ROYAL HIGH SCHOOL FP CRICKET CLUB SEASON 1951

1st X1

HAHAHA	DUNFERMLINE HERIOT'S FP. LEITH FRANKLIN MANDERSTON EDIN. ACADS. MURRAYFIELD	133 64 119 177	9* 10* 7 .	114 65 130	7 5 * (°	D L D
н	LEITH FRANKLIN MANDERSTON EDIN. ACADS. MURRAY FIELD	119	7 .	130	. *	D
H H	MANDERSTON EDIN. ACADS. MURRAYFIELD	177				
А	EDIN. ACADS. MURRAYFIELD	177	10*	107		OFF
н	MURRAYFIELD			107	5	
		119				D
A			7	117	10	W
	MELVILLE COLL. FP.					OFF
н	GRANGE	92	9	89	10*	W
A	WATSONIANS	42	1	39	10	W
н	CARLTON	76	10*	58	10	w
н	EDIN. CITY POLICE	98	6	95	. 10	W
A	STEWART'S COLL . FP.	64	1	59	10*	W
A	GLASGOW H.S. F.P.	181	4*	89	10	W
н	SELKIRK	143	8*	92	6	D
Н	CARRICK KNOWE	58	9	51	10*	W
Н	ST. BOSWELLS	135	10*	136	6	L
H	ROYAL HIGH SCHOOL	137	7*	. 66	10	W
A	HAWICK & WILTON	73	10	140	10*	L
н	QUEEN'S UNIV.	168	9*	112	7	2
A	STENHOUSEMUIR	155	4*	158	3	L
A	KIRKCALDY	51	5	45	10*	W
н	DRUMPELLIER	105	7	103	10*	W
н	BRUNSWICK	163	7*	61	10	W
A	PERTHSHIRE	*	*	49	2*	D
н	TRINITY ACADS.	49	2	45	10*	W
					10*	L
	H H A A I H I I A A I H A	H CARLTON H EDIN. CITY POLICE A STEWART'S COLL. FP. A GLASGOW H.S. F.P. H SELICIRK H CARRICK KNOWE H ST. BOSWELLS H ROYAL HIGH SCHOOL A HAWICK & WILTON H QUEEN'S UNIV. A STENHOUSEMUIR A KIRKCALDY H DRUMPELLIER H BRUNSWICK A PERTHSHIRE	H CARLTON H EDIN. CITY POLICE A STEWART'S COLL. FP. A GLASGOW H.S. F.P. H SELKIRK H CARRICK KNOWE 58 H ST. BOSWELLS H ROYAL HIGH SCHOOL A HAWICK & WILTON A STENHOUSEMUIR A KIRKCALDY H DRUMPELLIER H BRUNSWICK A PERTHSHIRE	H CARLTON 76 10* H EDIN. CITY POLICE 98 6 A STEWART'S COLL. FP. 64 1 A GLASGOW H.S. F.P. 181 4* H SELICIRIC 143 8* H CARRICK KNOWE 58 9 H ST. BOSWELLS 135 10* H ROYAL HIGH SCHOOL 137 7* A HAWICK & WILTON 73 10 H QUEEN'S UNIV. 169 9* A STENHOUSEMUIR 155 4* A KIRKCALDY 51 5 H BRUNSWICK 163 7* H BRUNSWICK 163 7* A PERTHSHIRE **	H CARLTON H EDIN. CITY POLICE A STEWART'S COLL. FP. A GLASGOW H.S. F.P. H SELICIRIC H CARRICK KNOWE TH ST. BOSWELLS H ROYAL HIGH SCHOOL H QUEEN'S UNIV. A STENHOUSEMUIR A KIRKCALDY H DRUMPELLIER H CARRICK HIGH TO THE TO THE TENNOME TO THE TO THE TO THE TENNOME TO THE THE TENNOME TO THE TO THE TO THE TENNOME TO THE TENNOME TO THE TO T	H CARLTON 76 10* 58 10 H EDIN. CITY POLICE 98 6 95 10* A STEWART'S COLL. FP. 64 1 59 10* A GLASGOW H.S. F.P. 181 4* 89 10 H SELICIRK 143 8* 92 6 H CARRICK KNOWE 58 9 51 10* H ST. BOSWELLS 135 10* 136 6 H ROYAL HIGH SCHOOL 137 7* 66 10 A HAWICK & WILTON 73 10 140 10* H QUEEN'S UNIV. 168 9* 112 7 A STENHOUSEMURE 155 4* 158 3 A KIRKCALDY 51 5 45 10* H BRUNSWICK 163 7* 61 10 A PERTHSHIPE ** * 49 2*

PS . DAVIES	1	1		5	5	5.00					
DJ. GILROY	17	14	2	54	106	8.83	7	1	20	3	6.66
JS. GLENDINNING	3	1		0	0	0	65		12	4	3.00
TB. HAMILTON	23	20	2	33	168	9.33					
AW. HARPER	20	13	5	21	63	7.87	3		9	1	9.00
GA. HENRY	13	12	1	28	138	12:54					
DR. LAWRENCE	20	9	4	5	16	3.20	215	63	404	41	9.85
AP. Mª GREGOR	17	16	2	37	135	9.64	263	4	80	4	20.00
DH. MC VIE	1	*	*	*	*	*					
DF. MANN	8	6	1	18	46	9.20	6	1	16	3	5.33
J B. MICHIE	15	9	2	20	30	4.28	62	9	173	10	17.30
ICM MILLAR	4	3	1	7*	12	6.00	24	4	51	4	12.75
J. MORRISON	8	7		36	70	10.00	25	4	60	3	20.00
GK. RENWICK	1			4	4	400	4	1	6	,	6.00
JB. ROBERTS	22	13	5	17*	58	7.25	236	79	431	54	7.98
FO.THOMAS	22	20	6	107*	638	45.57	272	8	62	6	10.33
AMC. THORBURN	24	16	2	42	211	15.07	220	34	597	58	10.29
JC . WALKINGSHAW	17	16	1	48	249	16.60					
EW. WILSON	20	18	2	67	312	19.50	5		18	2	9.00
G. WISEMAN	8	5	2	32*	49	16.33					

1951									
1731									
D.J. GILROY	54 V. L. FRANKLIN								
F.O. THOMAS	68 V. EDIN , ACADS								36
	86 V. SELKIRK								
	102 V. QUEEN'S UNIV.								
	107 V. STENHOUSEMUIR			1000					
EW. WILSON	56 V. MURRAYFIELD								
- 40 . 44 . 12014					1		1		
	67 V. GLASGOW HS.F.P.								1
							No.		
DR. LAWRENCE	7-39 V. GRANGE								
	5 11 11 11 11								
	5-14 v. WATSONIANS						-		
	7-14 V. CARRICK KNOWE								
JB. ROBERTS	7-20 V. CARLTON								
	5-14 V. STEWART'S FP.								
	5-34 V. HAWICK & WILTON								
A	7 40								
AMC. THORBURN	7-47 v. GLASABW HS.FP.	-			1				
	6-50 V. SELKIRK								
	7-18 V. TRINITY ACADS .						1	- 10	
					-				
AW. HARPER	5-3 V. SELKIPK								
THE POR	V. SELICIPIE					-	-		
								1	

			ROVAL	HIGH SCHOOL FP	OPPONE	NTS		
APR.28	A	BOROUGHMUIR F.P.	110	8	55	10*	W	
MAY 5	H	GEORGE HERIOT'S F.P. 2	82	10*	60	10	M	
12	A	LEITH FRANKLIN 2	121	7	105	10*	W	
19	A	MURRAYFIELD 2	119	10*	120	6	L	
26	A	MELVILLE COLLEGE F.P. 2					OFF	
JUNE 2	A	INNERLEITHEN	105	4	77	10*	W	
9	H	WATSONIANS 2	148	10*	169	4	L	
16	A	CARLTON 2	206	q*	76	10	W	
23	H	STEWART'S COLLEGE F.P. 2	72	3	62	10*	W	
30	H	NEWINGTON	77	3	59	10*	W	
T KINT	H	BURNTISLAND	79	10	128	10*	L	
14	H	EDINBURGH ACADEMICALS 2	714	10*	48	10	M	
21	H	LEITH ALBION	116	10*	91	10	M	
28	H	STENHOUSEMUIR 2	50	7	41	10*	W	
AUG. 4	Н	KIRKCALDY 2	147	8*	71	8	D	
11	H	PORTOBELLO HIGH SCHOOL F.P.	130	6*	18	9 (AO)	M	
18	H	BRUNSWICK 2	173	7*	47	9 (AO)	M	
25	H	MEADOWBANK	-	-	98	7*	AB.	
SEPT. 1	A	GRANTON EVERYMAN	1 146	10*	63	10	W	

P.18 W.13 D.1 AB-1 L.3 OFF.1

ROYAL HIGH: 1955 RUNS: 132 WICKETS: AVERAGE 14-81 OFFONENTS: 1388 RUNS: 163 WICKETS: AVERAGE 8-52